Telangana Police S.I. (Civil)

Question Paper

Time : 3 Hours Marks : 200
Instructions :

(i) Each question carries one mark.
(28 (D45 a8 Hordy Sod.

(i1)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS VNS (D8 (DD adg &S ¢35t DO WS DITEIH0d DBED @I
20T woB 1, 2, 3 BE 4 T ad)d OMR JD6reed HEH0S® (9415 0. 060DD
Sopg o &8 _r/erE wrd rowod D) GHBVrA0D JodhISHe.

1. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
2.8 (Hogrodirdd Dl whdarorod® 510 H0d $58050 DAOS dred® 240 H0d
DodGyhen S, FATEINE” TndeThy 30 darer JONS Jod® of §'erd (Hogrodirdd
5T DodE He HovHd
(1) 250 (2) 276 (3) 280 (4) 285

2. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an-average interview 20 candidates every day.

II.  Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) T alone gives the answer (2) 1II alone gives the answer

(3) I & II donot give the answer (4) 1 & II together give the answer

& (80d argwgod I8H08

Soe o @1’53@;50@ A, B, C o&?, @1’53@5_ A3 q0&8rg g o é @2;55%50@ dowg

L3 g3y dfend (08 8%z 20 Ho0b ©gdHob q06rgg B ow.

. A3 aowdrgg So%g & wafgdoo Howg B T Josg T ezaap’ggoeéo?’j 2, C3
Badog e @2;552)500 08 1 NESPRSR

(1) T $rES ddrgedo ado0d (2) II - ddrgrdo 300

(3) I mose I, Bodkor ddrgedo aés@@ (4) Imosell, Todr 0D dorgrdo arow
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3. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

VBER2 (A) 1 20 Jopge (DAL Dordd Do) Yons, e3S? dogonr 19 &3
fooagg@o G0 HNY.
gm0 (R) P B8E 20 JdHre Dopgo (DA Dordd 10.5.

(1) (A) £605% (R) Bodr sEHom HTIFs°E (A) & (R) © TS IS5
(2) (A) %005 (R) Bodr sEddom HTHS 520 (A) & (R) $TD I8t 55
(3) (A) $B%6 59 (R) 005
@) (A) %0576 59 (R) HTHT

4. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
@8 308 0HEITY S 208 9T (DB VoLE Yo WVIE 5% Dowherds. © 308
aH)8 ©F JoH . 3000 00 wonE, TOK DoHEVTL SHTE T (rFrchod®)
QDo Gotwod?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

5. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is
(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000

2.8 Bg & MHomd) L8 HIED (iiiO 8. 30,0005 &arydo. S8 o(oeR) @EB 20%
o8, HER fﬁé’\) 10% dar8 odryd. VT ©dl Bngo W& 2% ey
dgedo. Mo, b

(1) &. 9,000 (2) &>. 10,000 (3) &>. 12,000 (4) &o. 15,000

6. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer
gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is

(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950

a8 $H, SBrEEHa8 10%, &°% argar08 15%, Dod agards 25% orgo
50008, @ HVDH) V0 §& Sr. 1,265 wond, o Sd5rd P&

(1) . 800 (2) . 850 (3) . 900 4) &x. 950
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7. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the

other number, then the two numbers are

Todo Jdowgo HGg FSo 1660. 8 Dopg W)y 7.5%, H06°8 Dopg By 12.5%8
K)X)J%‘é@&@ @ Todko Yooaog@o

(1) 2490, 4150 (2) 2510, 4170  (3) 2600, 4260  (4) 2700, 4360

8. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea

and if there are 40 persons who drink both then the number of people in the group is

w8 DHarerodt égs’joeﬁ's 72% %208 5°%, 44% H08 & (S oz, ©0%oe® (L
265_% s, Srd (@ Hosrdy, Todor L@ﬁ é§§_ooe>o 40 %5086 vond & DHardrod®
56§§_.2© fooags

(1) 250 (2) 200 (3) 300 (4) 450

9. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other

he loses 15%. Then, the shopkeeper’s gain or loss is
(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

w8 Sostemardody 87 8) TV g 20,000 70 pd Tods TVen @Do&@déo. w8 TV
©H03 Ed0 ©&I8 15% orefdn 6500050 Todd TV D «@dd8 15% 39 d0 S0)I8.
VOYP®B, @ $570arIE HDYS o dn GH SQ BN

(1) ooesdn 2.25% 2) oogdn 4%  (3) dpI0 4% (4) Shs» 2.25%

10. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation
of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

ud &% 5"5@"8 008 a8 Ssroordid (DEESE Jo Ir. 16,000 ) a8 TV
HEV Todd EhoR) Fdoo 20% » SHhard 10% od® o). g8 » TV Jarer
Bosad8 S, 480 P&) wondd. edd ¢ TV &o. 15,0008 @3)0&3, w88 SN
ol S0

(1) 30 (2) 25 (3) 20 4) 15
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11. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the

loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price
of the article should be (in rupees)

2.8 osrearrdady o8 HDoHdo S, 1,4708 @Do&*@g DY orefdoo, oT $Hdo 8. 1,0508
©d B HDYS c‘éaeéoaés 20FP0IED HHoJowmrds. sl v HD eaaéo&ﬁéoaé% 30%
SREAPINY oo, o DRNE GodIONd wHEY I (Srarones?)

(1) 1638 2) 1600 (3) 1578 4) 1532

12. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively-as investments.
After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
C joins the business by investing Rs. 21,000. After a year they got a total profit of
Rs. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7: 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A %0050 Beo 385000 8. 16,000, 8. 12,0000 D¢ &8 o8 a“’g?ﬁcﬁo (PEodowrd.
3 Jvo EHhard A, &r. 5.00000 BI8) @@é"’m‘lcéo, B =mos® &r. 5.00000 &0 &
DErds. a08¥ 3 Joo EHhard C, 8r. 21,0000 D& & argrdod® Joods, o
@oéégdo SSard 08 Jndo . 26,400/-o er"e;fo SD)ob.

Bod (DIWSDdweo 5680030

(@) orerd) A, B, Coo 709 1 6 308308 $0w8 3585

(b) B 8 wrgfo - C 8 wrefo) = S, 3,600/-

(c) A8 . 16,000/- oreso

ISTCHCSSINIRSPI LT apbe el

() (@), (b).& H0030d (2) (b), (c) @ DO0NID

(3) (a), (€) @ D8I 4) (a), (b), (c) o» @bl DO 03JD

13. A is twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &) A TgoH 3“2600’5055 D Todods H0d» DOLEr O af HAD
18 &farod® Hro SohKeds. A a8y o 88 DIJ Yo Bosoro B350

(1) 27 &feeem (2) 54 &feeen (3) 36 &*ecen (4) 45 SPween
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14. A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500

A, B oo a8 9Jd 8. 6,000% Hr0 [oSwed8 2O PE . &8 DD A ¥y 6
&erod®ir, B a8y o 8 SPerod®sn Yro Bohieds. C H530508° 28 & HID 3
SPerod® Gro Vad. Pdys® C By eedo

(1) . 3,000 (2) 8. 2,250 (3) &x. 750 (4). 83..1,500

15. A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it _is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Todo 2do a8 50 498 (8338 wod waron: b Bodd 10 43S Do
Dordd 3.2 SSHaed 10 éJaégeS‘g ©8 4.68 00NH0L. = Fr0d Bngo Ddoen

303 BOSJ"?S@D Dgooﬁj AdDS 30 é;ég’eﬁ”s DS Hordd Qod dowd?
(1) 6.25 2) 6.5 3) 7.0 4 7.5

16. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000

A, B 508050 C el QT’OQJQJQ’.S)5 &) éﬁsgﬁo@s’o w8 0 I. 6,00,000 Sngo SPEHm
ATLOBHA F oS %ﬁgﬂ% DS Sngo B Fons' & gH8 ad)d Inerds 2885 Y
Téw éoéo&‘w B Jroned®d &&°gA8 adys Bo‘aeéo C Fond® ¢&gh8 adyd Snaed8
Todko T&o. A g“’oooeﬁ5 50 %008, B rons® 75 $o00, C Fons® 100 Ho08 &&gHre00E
A cg"’ooa@“g ‘%él o¥ a&°gn8 ai)z)é.ﬁ’sc‘éi Qo0& ? |

(1) &x. 1,500 (2) & 3,000 (3) &x. 4,500 4) 8. 6,000
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17. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 5 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.9 3oy, (HSre8oB (EHoos® a¥ 558 a8 How 40 IWFrer &GV Sdhad,

5
©@$%0 WAL SrIost r $08) Srdo (HArBoTrEd Hdodowrd. wdd I&E Do

(1) 9 8d/K0e (2) 6 8%/0e  (3) 10 8D/oe  (4) 8.8do/Kos

18. A cyclist reaches a certain place in 6 hours. If he reduces his speed by %th, he goes 5 km
less in the same time. His speed (in km/hour)
af $g8 H8ID (HArBoD, wf (DT 6 Koved® Tderds. © Hg8 wdd Iy
o8& Hods éQoiﬁos’oo@, OB DH00500S° ©Ebs-5 8o EEHN D (DArBIdd. @& SKo
(8a/K0& %)

(1) 3 @) 4. ®) 43 ) 37

19. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

TBodko E@gfo@ és@éé 6%s® 28 IKo& (D53 daT o0, w87 8 Teoo &L 100
DO G0l o wEETIY HEES 10 DEIS® @B, w8y E) Teo TWoE) Ddo
(fod¥H Eé%éo&g&)

(1) 84 2) 72 (3) 36 4) 32

20. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A $:80%0 B Hag $ogg $rd0 390 8.5 2 Bes HE s A 5 10 AMS 65 8.95/k0
IK08& 0%0e0TO Dhd B FH (dSrs000. $6°8 Toeo Rhs B ¢ 11 AMS
35 8ao/do BH0&  HenTO DA% A Y (DA;BD00. 9 oo Dok

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM
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21.

The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is

w8 8fwd® HRorSos®d Kowe 0005w JMre K)w%‘o@ w8 DS Tast, ég@_ogé
&%t D) Yo wodrrow

(1) 20 (2) 22 (3) 24 (4) 44

22.

A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?

w8 B HANBTrSo (D8 Troade JdrodH 5 Elow whfom QEIN0B. TV
e&0%0 8 dovodH HOTH ©B 6w oo@ 9 HovodHh & Ire B Jod?

(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM

23.

The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
g o' VIO Bwr wITIO
(1) Fdoz~So (2) a0 (3) HE=so (4) $Jda8o

24.

X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then ¥Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

a8 Fgardod® X $005m Yoo 2 1300 8S° D & wgrds. Swdo ogfod® 10%,
a8 PEFToLH JorFomr guB SGard XE S 900 wrgfo HDNod. wPE Y8 H)IS
oo

(1) . 1,600 (2) 8. 2,500 (3) J&o. 2,250 (4) J&o. 1,350

25.

Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying-on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s-income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600

ore Hod s msSoe z‘r’ﬁ@"séogo@% Sngo & 60,000 B2y 0 oo R & DG
HDYS orerd) DI;Somr HoSHToLy Dbk TS vHo W & g oS
DodENor08 10% Eéé W), a°gardo S&PoVI0EH Jo&H dr. 150 @?oaéo?ogéaétgam
D080 DS NHT . TR o0 & oo o0 dST Do @d)Howd, agrdod’
IS Bwgo JDodEYE orgfo Hod?

(1) . 10,800 (2) . 8,400 (3) 8. 14,200 (4) 8. 12,600
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26. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take m = 22/7).

(a) Area of the circle (i) 264
(b) Volume of the cone (i1) 924
(¢) Volume of the cylinder (iii) 154

(d) Curved surface area of the cylinder (iv) 308

gNBTH Dered® ag>do T dBrdes, Jdy 6 order ¢oB & (80b o8
2EHIB0d (BB Bardew 8™80d, T =22/7 «d &8 0d).

(a) $yE Iwrogdw (1) 264
(b) $0%HD HodHdSITe b (i1) 924
(€) Drodn HISDOIIedd (ii1) 154
() rdo BESo Brogo (iv) 308

(a) (b) (c) (d)
(H ay G G @0
2 G Gv) (D) )
) Gv) (i) (D) @
4) (i) @ Gy (i)

27. Match the following

List—I List—II
(a) Cuboid (1) Square
(b) Cube (i1) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
Bod o8I =g %08

de—I1 erde—II
(a) &g Pado (i) SS8%0
(b) oo (i) Hygo
(c) AP B0 (ii1) (BaezbHo
(d) %o0&D (iv) &gS&8d0

@ (b  (© (d)
O Gy G ()
@ v @ (i) (i)
3 @y @H Gy ()
4 Gy G @ (@v)
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28. If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the
original rectangle in cm is

2§ BESESHo ToE) FEDD 4 cm SAoD Bdwyd 3 om HodE IE&D
BEE(D 3Togo, BIISHE(D ITogo8 JVErIHPNB00. oRYd EYISHI (DY Hoko
Fod Do.dos® A

(1) 46 (2) 48 (3) 50 4) 52

29. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of
the metal, what was the weight of the original plate in grams ?

5w STEPY) THI Tods D& grmeom 800Td 800 a8 v el D7D
PO &) W) dnF oone EB0owrdd. (D8 W) H0E) WnE) S 20 (. «Eé
$S Bogo 7 TEH SnE) e $0T, wdds 80005 JnlB TH  HP (.o dod?

(1) 140 (2) 160 3)" 210 (4) 240

30. Two metallic cones of heights 4.1 cm and 4.3 cm and each radius of base radius as
2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.25 $2005» 4.3 %0.90 J&r@d, 2.5 &) o°d8 2.1 =200.90 Pracgdrdo 08 &)y
Tods ST FoHHod 000D a8 FF¥om HOTSH. v FFY gddn o.bod®

(1) 4.2 (2). 4.5 (3) 4.8 4) 5

31. What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Dopgdod w8 DI Dopgd EOVIS HWy Dowg 19 JE dFyhdom
A oS Boda?

(1) 14 2) 5 3) 1 4) 3

32. A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 cm, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take © = 22/7)

¥ @g(S® 308 60 200.99, 35 200.90 $98050 22 20.Doed c%;é; @ééw@s §'°<S°Se§_%e>o
Boﬁ?s@é\)é"’él&, 7 200.D00 mgfozéoa 598050 4 200.900 o)é_ooés RYesNaleN) Boﬁogﬁ@ﬁ:ﬁ
Qrrsrdy §Fidie Vowg (T = 22/7e 30808 )

(1) 75 (2) 150 (3) 300 (4) 400
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33.

Find the greatest of the following numbers
& (800 Dopgod® ©8 DY Dopg ELoA"dodw

V5 -+3, N7 -5, o -7, V1149
(D) J5-43 2) J7-45 3 J11-+9 @ Jo-7

34.

Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?

5 fower 2TIO (Brddo Bodeo DYrow. & dobewo HEDm 6, 5, 7,10 H50605%
12 80g 50 (Brhd. BndEI0 (Bridd BEH neHore %08, ¥ o
DHo0vost @ @—95; QAT OB (Bl ?

(1 7 2) 8 3) 9 4) 10

35.

In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

e, &@’0@ EONS 40 &Y oI008 A8 5%. A8 wdo 10% @ﬁogégo 208°Qy
5@;50@ &3 é)oL%Eérfog orwoB, oddodd 8 Hodrmo (@éagé%)

1 1 2 1
M 33 2 33 3) 25 (4) 65

36.

The number of integers which are not perfect squares between 16% and 177 is
167 %0050 177 S0y H0%rd Bd%ne 2 Grgose Howg
(1) 32 (2) 33 (3) 34 (4) 28

37.

The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years‘is' Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500 (4) Rs. 63,600
§°0¢ &3‘2603&23 FoH 10% TOpS Tod DodEyorodH zlSLéécC% D080 T8
$do Hogg Fdo 8. 631. © Bwdo ooy

(1) &o=. 63,000 (2) . 63,100 (3) d&o. 63,500 4) &o. 63,600

38.

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2Y years (4) 3 years

wdeo . 80,000/- oD I 10% z:SLézécfg Ten&® . 16,800 K)cé $TNE ¥
rgoHS® $0NE & wHWDH WgoHS® oIS oDHONY

(D) 1% Sod&yoren (2) 2 Jodgyoroo (3) 2)2 DodEyoren (4) 3 DodEyoren
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39. A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is
w8 $g & . 50,0005 8% g ééé‘, 2 JodEyorof Smonr awe)dy DO ASw
$:6° 8. 50,0000% ©T Twd Jodd SEIEE 2 Dodyorod aw)b. 80?35@;5@
SSTd ©EI8 80n V) Boored® Fdo
(1) 300 (2) 320 (3) 360 (4) 380

40. Match the following

A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(i) 16%% (a) 12%
(i) 20% (b) 6
(i) 8% (c) 5

Bod A0 =BDIF0d
§0d PIwyd gl éé% ORIHIEBIO. © Ingo TEHoY w8

é§ FS0 JoRdEsne Dowg
() 16%% (a) 12V
(i) 20% (b) 6
(i) 8% © 5

(1) (i) (i)
(M (@ (b) (©
2  (© (b) (a)
3 (@ (c) (b)
@ (0 (©) (a)

41. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
a8 ewrgodH 10% D8 2662958 Soereo ®008. HIE 8% éég oo §Pordks. Qe
S0°g, wrgoHH & Comon BT DG, Er. 40,00,000 D 10% HEE Ty g
2 TB&omr Bodod HIrEH 82637 002782 BR0E. £S5 @K)os’o:él SoeaBoo ek ?
©305 3 Tews (vfo Srardhos®)

(1) 100 (2) 90 (3) 200 (4) 180

IS 2016 B 11 G



42. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jeod 162/3% THPS 3 DodgyoroH §od @“éwgi&a 6L§é<§ Soe. 12,700 e00dd.
YA 0 = ®0od 26(29 Ten&®, 908 HHBTIE ol éc:%

(1) . 9,600 (2) $». 10,800  (3) &». 12,000  (4) . 10,200

43. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is
(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

a8 Budo P X 8% 5@ Twnd® af H038310°08 DS SESSEr. 600. ©T Indo

P 2 od Twns& 2 foo:éébcwé”s 53?3 iﬁtézéc(%
(1) 8. 1,248 2) & 1,428 (3) &5, 1,644 (4) . 1,648

44. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it
will be 5 : 4. The sum of their present ages is

3 Jodgyore (880 ovdw, e Hodoo Qa8 4 : 3, Todk Jodsyore SSHad
®d 5 4 oPXood. 0 (DI Sk Jwdo
(1) 41 (2) 43 (3) 45 (4) 48

45. Three containers have their-volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.
The ratio of milk and water in the fourth container is

Qardy F(Eo PIV0Brre B 3 1 4 1 5 & rEod oo HdaSn Qe
W(FL008 Jords. © F(E0S) oo, de3 VR By HED_ 4 1 1, 3 11 Hoddw
50 2. 88 Hogedko @ﬁ@@ef’&) D(FSred Troord @Léé% FIFLo. P D @1’@5@5)55) Foplo
$00 8% e SRS )

(1) 4:1 (2) 151 : 48 (3) 157 :53 “4) 5:3

46. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the
cube of the middle number is

Hoards Dopgeo Hozre Fodo 1728 oTogheem &Sy dopge D08 3145 wond
éacjg (oosps T PIJ D0
(1) 216 ) 512 3) 256 4) 128
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47. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
a8 argard D0Y TN Adgs gy arfEom Do, r§Eomr IITIENOV AEgE
FBorded & Irddr wowwod. @ Sos® 540 T3077d® AV TWrMrIE HDNS Do
8. 1,800. $58°8 Jos® 620 5ordd AITrord8 DY Heo 8. 2,040, o8 Jod®
500 05ordg0 AITrAoDIRE HTy Jogs Hed
(1) &. 1,560 (2) &. 1,600 (3) &~. 1,620 (4) 8. 1,680

48. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?
6 K8 DATFY af g 10 SPwrod® ool (008 TEod FHoggo @y
DAy wwdod 3 Fdod 5 Sfwrod® £4@d8 J8H sod?
(1) 36 (2) 18 (3) 20 4) 16

49. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)
ud S3KBS® 100 %508 8)(3"5(30@3 &on) 8. wred foospg rd¥o foo:apg 08 10
D& H. erend Dby E%) 50 8y mESHESD argdooodd vdwy 6y 455 &
@80 Dty HD B (rodh)

(1) 40 (2) 45 (3) 50 (4) 52

50. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
I.  The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) I alone gives the answer but not II (2) II alone gives the answer but not I
(3). I & II both are required for the answer (4) Iand IIboth together can not give the answer
11 &od Ho eaégoé’s, 11 oo @éam@;@ D DA% 28 DodEyoren. why TS
D050 ?
L 23%)095”520 ©8 V) H05 do wbmrd 0T osadacsy 11 dodEyorer DG,
II. 508858, NADS HE Hood eaéamqﬁ@ Defen HA%do 27.3 DoHEyoren.
2B DIrgrdo D0wE 0d
(H1 aé&'ﬁ 0B Vdrerdo anod, [Tadgds (2)10 a;ézr@ DB DArerdo adod, [ ’dgds
B) I &Il Todr HHrarard8 DI 4) LIIBodr v, ddrgedo aésé@
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Read the following data and answer Questions 51, 52, and 53 :
Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddn Soa 51, 52, 53 B4)okh zardlged :
Sngo 35 Hobd Dws%foe@% 16 H008 (How, 16 D006 DDy yEHw Hoddsw 11 Hood
Boory BT HBE0LT 8. 5 M8 (HoW B0 SBwatly Todr FSro, 20S°
doady Dody yEo Erwe B0 ©380 8. 5 s Boaih SeEH IS
w@ﬂg, 8 Hood Dodyydo Xoﬁtéﬁo BEFTPOJ @& owoce) 8.

51. Match the following :

List-1 List—I1
(Choice of Languages) (No. of Students)

(a) Only French and Sanskrit 1 2

(b) All French, Sanskrit and Telugu (i) 1

(c) Only French and Telugu (ii1) 4

(d) Only Sanskrit and Telugu (iv) 3

od B =EDHILod

eI eI
(@PRY AEe2) (Rargdow Bowg)

(a) (oD H0dB» oWy ydo ;S (1) 2‘

(b) (oD, D0dyydo Hodasn Beodd @fbl (i) 1

(€) (HoD HBWBH Sooi I (EDo (iii) 4

(d) Dody y¥o H0B» Soadd S| Ho (iv) 3

(@) (b)) () (@
(D Gy Gv) @O (i)
2) G @O G (Gv)
() Gv) @) () @)
4 ) (@O @) (1)
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52. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
Bo& ad)d (DISros® 28 $05°E?
(a) 10 Ho06 Dwgc@ﬁoe}o 3 rhes® %o Todoidr) WEFroIEohTe) 8
(b) 5 #H& Jorgdhes Hrdy rhod® 6 re ISsrodstdo Bk
(c) 4 %8 E’Qw’géo@o Qardy R er WEQHT L0078
(d) 7 &0 mesgo@o (oD Jor(EHo TS oI5 00T s
(1) (a) (2) (b) (3) (o) 4 (d

53. Read the following statements :
(a) 30 students want to study at least one of the three languages
(b) 20 students want to study only one of the three languages
(c) 2 students want to study only the two languages Sanskrit and Telugu
The correct answer is
(1) (a) is correct but (b) and (c) are wrong
(2) (a), (b) and (c) all are correct
(3) (a) and (b) are correct but (c) is wrong
(4) (a) and (c) are correct but (b) is wrong
Bod (DIdVrod WEH0s
(a) 30 Ho0® QaPg oo DHardd rhos® €d%0 28 oIS BET 03800078
(b) 20 %o0d Dmgéoe;o HrB08S° 2o IrED ISTreosrgowoT )8
(€) ®38 Jargdood ‘foo(“ozrgéo $20050 Beors ToRoB Hr (S FET0E0boT7) 8
D0 /o foérquzé S0
(1) (a) $3BIT 520 (b) L00B» (c) HVOSD
(2) (a), (b) 000 (c) Hards DTS
(3) (a) 0008 (b) ¥TIT 52 (c) HOs°L
(4) (a) H50B0 (c) HBIJ 570 (b) Do
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The number in the figures in Questions 54, 55 follow a pattern. Find the number in
the place marked (?).

Bod adyd 54, 55 HH o dedwes® Sopgwo ¥ ERod88S® aaryon. (?) 2ES S STy
&ospg §260§'52roc%.

3113 7|58 5141 7189
4. 1H s 3 | 40 419 5139
(H 9 2 8 3) 7 4) 6
418 6|12 12 | 36 72120
55. 1212 2] 3 3|4 205
(1) 16 2) 8 (3) 10 “4) 2
56. A silver cuboid of dimensions 5.5 cms X 5 cm x 4.2 cms is melted to form circular coins

of diameter 1.75 cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take m = 22/7)

5.5cms x 5cm x 4.2 cms Fodes fo a8 Tod O H3°0) 0A0D 1.75 cms agdow0
$005» 4mm 085 Ho IyEsd TBO) Brd DI, wdpd Bod STEro
3008 SBrTS FBO bopg (T =22/7 & 808%08)

(1) 120 (2) 80 (3) 60 4) 12

57.

A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

b¢ WSS’ &) af PodHn Ty Idoo), dd 4 15 KBS Hop.

¥ Podo VE) Jdooy &R Soo) 20 m S S0 &élﬁs, ¥ Podo BVE) Wk
Fod d.od

(1) 240 ) 300 (3) 360 (4) 540

58.

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 58, 59 and 60.

Bod adyd Sedoed® Sopgwo ¥ ERoDEBS® w0, €8 SST TR GHTA0D, (¥ 00
58, 59, 60eos® (?) L Ste 2533 Sowgido §263§'62ro<%.

1 3 4
B @
8 8 5
4

6 3

2
(1) 26 (2) 28 (3) 30 4) 32
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59, @
o
5
() 3 (2) 4 3) 5 4) 6
60. 12
% @ 12
@
3 1
(1) 2 @ 5 3 5 ) 1

61. Consider the following statements
(a) Any two similar figures are equal
(b) Two circles with radii 4 cm and 5 cms are similar
(c) A square and a rhombus are similar
(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms
Which of the above statement/s is/are correct ?
(1) (a) and (c) (2) (b) and (d)
(3) (a), (b) and (c) (4) (a) only
Ss (8080 (DdWarod H82O0$0d
(a) @ Tok VEFDH DO BIT DITI0M G0ET00
(b) 4 =0o0.® ab"’?g@"gzéoa $0035» 5 0.0 mg@“géoa do Bodk dyzreos Do
(€) FSoZ(dHore, OH FBsGoNwH DT oD
(d) 3 Vodve Haedn do K;zéoariro (B0, 4 200.00 Foudn Ko Hlowrdro
(8308 DErDHDw
D (3T Tros® DO/ HTI6?
(1) (a) 200050 (c) (2) (b) H0008» (d)
(3) (a), (b) 000350 (c) (4) (a) 28, @
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62. Match the following

(a) Mahalanobis (i) oo

(b) Srinivasa Ramanujan (i) First Indian Satellite

(c) Bhaskara (iii)) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

(Bod &8 =LErIHod

(a) HoroS*OD (i) oo

(b) 3Jad occdrdowd (i) BodE 8 &dHWIT0

(€) 98 (iil) Dogrg 70 90

(d) edgae (Iv) odad FaPES adPorgd

@ (b () (@
(h @Gv) i) @ ()
(2) Gy Gv) (i) @)
() @) @G (Gv) @)
4 O @) G o (Gv)

16 .
(x+16)2 » AF
(i) x=#-16, and (i) x* +32x = 320

63. What is the value of

16
(i) x # —16, $280%0-(ii) x> + 32x = 320 @o»S (xr16) Do Dod7

) 36 2) — 3 P
M @ 57 ®) 30 @ 35

64. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

¥ 5g SEYRD IFrogo 60 IEYH Barde. o FEL), Idoojod KD
6 0:505‘;3@0 D28 080 2 dSorrdén é@ﬂg ©0 2 LI (DNHE08. D Pd & BSG(DY
BToghn (SSER Brdes®)

(1) 4 2) 9 (3) 16 (4) 36
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(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth

65. Consider the following statements

(b) The shortest shadow of an object occurs at local noon

(c) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?

(1) (a) and (b) (2) (a) and (¢)

(3) (a), (b) and (c) (4) Only (b)

Bod av)d (DIITrod H0RD0T0S

(2) ©5°408° rdgds o8 KD 0T, FrdHHd of IRW Ad wod ISy
GO0l

(b) 28 0D 98 D) V8 o (FodY g Jergiryes HBE0d
(€) odrardg ddy Drdgds, Wo(Bady Frawd BEE, IS wordd
DO DS (DIUT0S DB/ DTID?

(1) (a) S208050 (b) 2) (a) %2005 (c)

(3) (a), (b) H28050 (c) 4 (b) 25T

66. The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) H2605» (0,3)e» %g"@oﬁ" 6d)  Sroghe FTogo (S8 oﬁwi)égé'ﬁ)
(H 11 2) 14 3) 22 (4) 30

67. A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)
a8 DR hardo fgréoza o5 D) sseSos® &d)0. fgréo Wy @rgdDd
8 Do, P H008& Fodd) %go Vg &y 15 . H28 A Qo J 12 Q. Bodo
Ho@or) EDPpLEH wHVEHTog TS Toog) ZTego (5.50.06%

(1) 144 = 2) 116 n 3) 9% n (4) 64mn
68. The next term of the sequence 1, 3, 4, 8, 15, 27, is

1, 3, 4, 8, 15, 27, ©H(EH0S Y EH8 Dowg

(1) 37 (2) 44 3) 50 (4) 55
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69.

Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the
right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

8025005080 @érgowm et %o o OB Erdoar)8o. otedE JdH (DEHD, Dodod
HA (9838 DD $0d. orB8 HA (DEYD Tobd @od. 088 D8 Hogd der 08,
TG BoggS®t @wH B B2

(1) o3 (2) 356 (3) ber (4) Do

70.

Fill in the blank :
o9 Grdotod :
CG:HL::KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 71—76, pick the odd number out (does not match).
71-76 %88 ([H%)os® S0 Sopgd dogodade.

71. (1) 282 (2) 364 (3) 4168 (4) 6248
72. (1) 1285 (2) 2213 (3) 3074 (4) 4172
73. (1) 1339 (2) 2665 (3) 3991 (4) 4223
74. (1) 11 (2) 246 (3) 327 (4) 464
75. (1) 5 2) 12 (3) 25 4) 36
76. (1) 81 (2) 441 (3) 529 4) 613

In each of the Questions 77 to 82, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

77 %208 82 $3E Ho (H8 (H)S* 90 ays Dompges af (Edo SFoD VAR FET° 0.
(B8 (B%)SPR0 &) PO edoEhe oS8 oo Eoom ad)d el PD)TR Ho0d
HOTRS war o8 HrooKod. ‘

77. 5,711, 28, 53, , 175, 296

(1) 89 (2) 123 3) 126 4) 152
78. 7,6, 11, 13, 15, 20, 19, 27, 23,

(1) 27 (2) 34 (3) 36 4) 37
79. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
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80. 21, , 55, 78, 105, 136.

(1) 36 2) 38 (3) 42 4) 45
81. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
82. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

83.

In the Questions 83 to 87, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

83 J00& 87 H8KH adyd @a%locﬁ's wod ooy 0w dyo 08 K:oaps@o 1 3008 26
REE, af [EX0 $Fod ANV ;EIRT 0. (08 BH)S ) 9, wdoEd I8
Foddw fodHom, ad)d oo 2RO o0& 0GRS = o8 Yrootod.

If VEDA’s birthday is on 22-5-41, thén RAGA’s birthday is on

VEDA Hgsd & 22-5-41 wowd, RAGA HES &we

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61

84.

If AZEV : FUIQ, then BYFU :

AZEV : FUIQ wo»€, edypd BYFU : )
(1) GKTP @) GTKP (3) GTPK 4) PTKG

85.

If AKBAR : 15, then ANWAR :
AKBAR : 15 ‘w00, wdypdo ANWAR : .
(1) 11 2) 19 (3) 17 4) 21

86.

If ICET : 73, then HBDP :
ICET : 73 wons, @ég)éa HBDP : .
(1) 64 (2) 34 (3) 48 4) 54

87.

If FACT : 54, then TAKE : .
FACT : 54 woxns, @é;))éo TAKE : .
(1) 35 (2) 46 (3) 68 4) 82
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88.

In questions 88—92.

In a certain code of the word ‘SAINT”’ is coded as 82147 and the word ‘MONKEY”’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i1) If no match is found use X

(iii) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

¥ oo 88 008 92 H&%s.

.8 §&8° ‘SAINT’ o3 Hdo 82147 mdo, ‘MONKEY’ o3 Hdo 364950 mds §°6&

D 3B fod adyd BAdson wgrdomr THER HMd Sored E6 (@d5od :

(i) o 8633 VIS 0 0B, & 07 D 9 o Irdyed

(i) 07036 26 BEFE X 5°¢0d
(iii) &S @08 0 wond od FIos” 1 Eod

(Iv) Bc5e3 Ho005m DHd woBew, Doar)s°¥ 20 57¥ BT VI8 Dn wond dopgeo
YoNs, JnSE o3 §&d 2 S8 yod

The code for the word INMATES is

INMATES o3 $do To¥). §&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578

89.

The code for the word YESTERDAY is
YESTERDAY o3 $Hdo BE),. §&
(1) 15875XX29 (2) 15875XX21 (3) 05875XX20 (4) 15857XX29

90.

The code for the word STALKINGS is
STALKINGS o3 %Hdo [SSEEYS §&
(1) 872X914X8 (2) 87X2914X8 (3) 272X914X8 (4) 272X194X8

91.

The code for the word MONASTERY is
MONASTERY o3 %do [SSEEY S
(1) 3642875X9 (2) 36248750X (3) 3642785X0 (4) 3642857X2

92.

The code for the word ASTEROIDS is
ASTEROIDS o3 %80 T30y §&
(1) 1875X61X8 (2) 2875X61X8 (3) 3875X61X8 (4) 278X561X8
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93. A motor car starts with a speed of 70 kmph with its speed increasing for every two hours
by 10 kmph. The time taken to cover 360 kms is
(1) 4 hours 20 minutes (2) 4 hours 30 minutes
(3) 4 hours 40 minutes (4) 4 hours 50 minutes
a8 Brerd 528 70 8do/o BHo& TudB (98 Todk dovesr 10 8d/do Jmdy,
0%, & 525% 360 8. Eror) (DTS otms Zﬂg DdoA%e0
(1) 4 Koo 20 Joreood (2) 4 Hoveo 30 Jdored
(3) 4 Hovo 40 Jdoaren (4) 4 Koveo 50 Jdoareo

94. AB is a straight line. An insect starts from A and moves verticallyup through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is
AB 2.8 $3¢ Ty, a8 DSk A H008 00T g gdnwom 8 4 =00.0000 £69,
éo@@ 53D §Be Ddrodomr 3 Do.vwr 6D éo@@ 8§ &g SO 2 200.2000
60, 808 HABY §= DIroLdom 2 0.0 E6O VIS (8068 w&domonr
$8&0 BY Jsos. SESRSS bda%é DOY BTN (LEED) 20.00¢%)

(1) 24 (2) 26 (3) 30 (4) 144

95. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and
the last point is (in meters)

w8 Hg 8 Sadg 845 40 D ETEEH HED, b A 3D 90° 8864 40 o SrEHw

S&BoTeho. DK S AFS 4042 Do, SrEdw Q&R0 SBE (PE0HoNS Doy,
S8E Hro Bod Dok HGg drdBnw (.o

(1) 0 (2) 60 3) 60v2 (4) 8042

96. A person walks in the given directions as follows
(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and. (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)
a¥ $g8 (8308 adyd 0¥ oS STk
(i) 85780y 64S® 60 0.5 (i) SSoad 8o OIS 80 .3 (iil) w2 DELE FS® 120 Ao
(iv) 8&050 ed8 64S° 30 Q. Ha8d%w» (V) wdoddo B8y &4s® 60 do. Scdorcso.
©E5 SEE (FPEoPoDS Do), SEE Pro T2 DodhdHo Hogy Srddw (D0.08%)
(1) 30 (2) 50 (3) 60 (4) 120
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97. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)
o ég_%o B 80) 8%s® 250 o. L&, @DYPR 8 &%s® 50 . S oo,
O YPE DELY &4S® 300 2. J%o;%r. wSL BEE (FoPoDD Dok, i Yo
TR DodHo Hgg Srddn (.08

(1) 30 (2) 6042 (3) 10072 4) 5042

98. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m
Er8osH wddopomr wd) HgE Srdy o 30 fbaéago S&orE S0 YD
40 do.oo HED @ DENE Iy 60 .00 DB, BSE Do) 008 wISTos
Er80s® saryd (.08%)
(1) 50 (2) 60 (3) 70 (4) 130

99. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @éo@éoo@ S*PoRD (“00995260 ERoAH0dw
(1) 35 (2) 38 3) 39 (4) 40

100. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? @3 08500’ SHhard Do §;63§52roé
(1) 96542 (2) 65423 (3) 96543 (4) 65234

101. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats
(3) Storage of proteins (4) Vasodilation
Py o B dWS?

(1) (0 Ygsrolo Ddadoz‘éocb (2) (EHgo Qog
(3) (FSBee dog (4) >¥FBIAS

102. Which one of the following is not correctly matched ?
(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra
(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia
S5 (300 2dod® DB HOTHIH 5°%>

(1) oS B, — 23038 (2) doDS B, — Do
(3) VoWS B, — «¥d Hodhotdo (4) DeNd Blz—_“oaéfooﬁoi EE IS
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103. Read the following statements

(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.

(c) Western Himalayas are biodiversity ‘hotspots’.

(1) (a) is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b) and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

& (800 (DdVTrod wgohvo Babhod

(a) o800’ Joyb Be3 & (80, H0dn FE&'as BwE & (NO) mdstd
VN8 wmHos® IEg TodIYPE ‘wdy Hgreo EHEI0w.

(b) odgod &rdone 40T drerdden &Y C;S&’sg’?o@oﬁog

(c) 9B)% Wrdrodirer EDIJISg HEXHE w0

(1) (a) 20030586 520 (b) H0080 (€) DO 157K

(2) (a) H00Bw (c) H80ID 570 (b) LB L& 570

(3) (b) $9005» (c) V0PIV 57 (a) DOTNHE ¢k

(4) (a), (b), (c) ®@J) VOTHID

104. Match the following

List-1 List-1T

(a) Methane (1) Knock-knee syndrome
(b) Phosphates (i) Global warming

(c) Freons (ii1)) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
Ss (800 & wBDHIWod

eI -1l

@) TS (i) =5-9 2olESo

(b) Foyden (i) 6° & 0304

(c) (PBrSod (iii) ©Evoyo&® Hooxd (bloom) 28 yEwO
(d) &PB&es (iv) &S 2o(&°&o

(V) &8 oo

The correct answer is
HOOND DIrardo

(@ (b () (@
(1) @Gv) (@) (v) (1)
(2) @) (@) (v) @)
(3) @) (i) (v) (@v)
@ (v ) @) @
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105. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located
(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0&YrE, Jorared HdIM Wod HO ©gdrdeargodn EONMBNS) 0ergo HOHI (Snd
(1) D538, oo, HoFtoRy (2) EoryoE, HEg(HTA, SIS
3) éoqﬁgtﬁaﬁi HTEorR 9, STl (4) Zom»E, oFyo, 506556335

106. Identify the correct statements
(a) Magnetic force does ‘no work’.
(b) Electrostatic charges generate magnetic field.
(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.

DTS DdTewen Hdokod

(a) ©dhdpod oo DITBE .

(b) %9 DogorBEdne Hob wohTpod F (Ed0 S8 ofdo.

() ©0%d)po0d © Tapor HIToSEHd wohIpod, F oo JE68S° wodolo.
(d) 2568 wohdpod F (S0 J8gdg 0.

(1 (@), () (2) (@), (c), (d) (3 (a); (0), (c) 4 (),

107. What physical property of the following uses‘non-destructive evaluation experiment to image
defects in materials ?
(1) Sound (2) Heat (3) Electrical (4) Magnetic
83 (8od Q T8 QST&&);, @52652539@)@3’5 o Sarod @3@80@03 WITEE QendHen Ef:éag“zr(_og
(DT d0s® SrdEedh ?
(1) $g (2) &R (3) 5og& (4) ©dsdryod

108. Identify the correct statements

(a) Sound waves and ultrasonic waves are longitudinal mechanical waves.

(b) Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse
mechanical waves.

(c) Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse
mechanical waves.

(d) Electromagnetic waves are transverse waves.

(1)~ (a), (b) only (2) (a),(b),(c)only (3) (a),(dyonly  (4) (a)only

DTS DdTeen HHdokod

(a) $g0 SFomrey HO0WBN WBFID SSomror ©NB gg 05ro (B8 SSomre.

(b) &g SSomed ©H3 gg FBro(88 domer OB V&g sy 08 SEomren
85g8 Sro@¥ gJomen.

() &g SSomen eazéo‘@gg FBro(@8 Sdomeo Hodn ©d FgJ SSomed 88gE
5o (88 EJomen.

(d) eSogcsodrpod Somen 88gE SJomen.

() @ b0)3=ED () @.0).QrED () @, ()FED @) (@) srEd
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109. Match the following :

List-I List-11
(a) Mercury thermometer (i) —-200°Cto 1600 °C
(b) Platinum Resistance thermometer (i) —200 °C to 500 °C
(c) Thermocouple thermometer (ii1) =200 °C to 1200 °C

(d) Constant Volume Hydrogen gas thermometer (iv) —30°Cto 350 °C
Bod o8I 2BNSLod :

-1 eIl
(a) 8oy g0 e (HS SrdEd0 (1) —200°C %90& 1600 °C 8%
(b) FES50 IE°EE &P HS HrHEBw (i1)) —200 °C Ss0& 500 °C S8
(€) &l dBndydn eaffd HHEH0 (ii1)) —200°C So0& 1200 °C 58%
(d) i’gd Po3D0rn o (BeS &raind) (iv) =30 °C %00& 350 °C $8%

A S STDHED0

@ b (© (@
(H @ G (Gv) (i)
2) Gy @) Gv) @)
@G) @) Gv) () @)
(4) (v) (@) (@O (D)

110. Metal ion present in Vitamin B, is
DeWS B, o & adinrd

(1) Fe* 2) Cr* (3) Co* 4) Mg*

111. The irritant red haze of the eyes in the traffic and congested places is due to
(1) ‘Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

("5 woEHomr &) D00k 2ddgo BB Gd) (88)02D HBros §@;50@ oo
QB 5@ 580

(D 05?35 2) & (3) 3= w3 6w (4) DB
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112. Which one of the following is a polyester fibre ?

(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod TES® >OTHRE T 262
(1) BEBE (2) 0865 (3) Bo,e-6.6 (4) B8O

113. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(c) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod &&S® DOOHD AVTen 70 B HoNok.

(a) o8 wdo a8 Bro8RE

(b) §60NIsE ¥ dSrod TWres

(c) %ETE a8 Brod8B8°Dad

(d) 9D a8 (Gro8g Bxd

(1) (@), (b), (d) 2) (@),(c),(d) 3) (a),(b), (c) (4) (b), (c), (d)

114. Read the following statements

(a) Carbohydrates synthesized in the leaves are translocated to other parts of the plant through
Xylem.

(b) Recombinant DNA is also known as chimaeric DNA.

(c) Programmed cell death is known as ‘apoptosis’.

(1) (a) and (b)are correct (2) (b)and (c) are correct

(3) Only (a) correct (4) All (a), (b), (c) are correct
& (8ol @dSTrodn wggohbvo Bobhod

(). J[Eros® DoFusthy 5°5°) I (Ehen S0y add rmed Tdhd) Trgo FT0SLH0
Bodos®on

(b) DIsdboBrus DNA Lo P05 DNA o Sra wodrdd

() (Pe®s Fomr Leroo FIFHE) ‘oDSPVET woerdd

(1) (a) %0005 (b) $0THD (2) (b) £0005» (€) DO TH
(3) (a) HrE HOTHI 4) (@), (b), (c) ® ) H0THID
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115. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood
(4) Adrenal medullary hormones increase the B.P. and heart beat
PR(@ Do S0 0§oD & (8oL (DITVTroR ©Fgadhdo T2 D050 D %3000
(1) @IS (Hod DI Jeeardy IEPES 6°9B08
(2) deido S Q0PI SENSRTNS
(3) &derddo So Z0s® ‘CO’ Hodrmo 0h 0, DdSrwo Sl
(4) JBIS S8y Hoen 8 DETD), #0T FPES Ty Dowosron

116. Match the following

List—I List—II
(a) Rajoliband Diversion Scheme (1) Karimnagar
(b) Sriram Sagar Dam (11) Adilabad
(c) Lower Manair Dam (ii1) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
RSO RROPEVGY

a1 eI
(a) oeefen  od 59908 DFLo (i) %60%46
(b) Joro >d6 @S (i) wooers
(c) &°c%86 $7I6 wreo (ili) Ho&> 75506
(d) ¥Ro.8=x07g3050 (iv) derdrersd

(a) (b) (c) (d)
(@ (i) (i) (iv)
2 G Gy @ (i)
3 Gv) (i) (D) )
4 G Gy (D) )
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117. Consider the following

(i) Right to Education Act makes education a Fundamental Right
(i) Right to Education Act was passed in the year 2009
(iii) Right to Education Act assured free and compulsory education to the children between

years 6-14
Which of the statements given above is/are correct ?
(1) (1) and (i1) (2) (i1) and (ii1) (3) (1) and (ii1) (4) (1), (i1) and (iii)

(Bod arsegon HOROOBID®

(1) Qdarg ) Fho J8gd (FENE Ty (HEGoV0d

(i) dorg %) Fyo 2009 HoHEFHNS® «BrEoTE:

(iii) 6-14 S0dEYyrod® &Y DLL0E08 DS B0 DEHo D amrgod darg
&y WHo (DEGBoV0d

D T5gest 20/90 HDTID

(1) (i) 9605 (i) Q) (i) wovas (iii)

(3) (i) %605 (iii) (4) (i) (i) $o00s0 (iii)

118. Minimum duration of stay in India before applying for Indian citizenship is
(1) 3years (2) S5years (3) 6 years (4) 7years
QTR0 oS EDEZ0 576 Sy TS0 S0k rdSEBFos® A, DoHEYIHoe
AXV0W &oBDHTL.
(1) 3 Jod&yore (2) 5 JoLdEyoren (3) 6 VodSyoren (4) T DodEyored

119. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh  : Providing 200 crores to save girl child

(2) Madhya Pradesh :* Providing food and clothes to girl child

(3) Rajasthan »~Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

(4) Haryana : The government to place specially designed cradles in all state
hospitals

‘B VRO H0ES o J 0°R90 s vl DELoD (VI DG, T (Heed

0§80 Q€ 2

(1) g8 (5TF  : ©d Dood §owhed &r. 200 59l S&ronoDod

(2) o83 ®3F 1 e VOOH  Hoo, Sty DHETrENEO

(3) oc=JS ol Doody DIEEom &V DOEIE 65 (DehEg e (s’
(HEg8om Do 0% &Y choo Jovydn

(4) Srorgs D o) (Hghdg b ($ed® (HBgEom D008 &I oo Jo)do
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120. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India
(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)

o8 Do 0§ ¥ o 0BG &°5 (IPAB) vy (95780 BF )& VOIS 2TWR(APES
308308y 0a%9 (GIR) el H0Y 98 DAgoH 2Jr(HDES Q08 THS oo
#2008 Hn(Ed D08, & Jo(@ PrEETISD T orgrgold H8od

(Bod o8S* D& d=o

(a) & Ao oraP9eo HEPH0 DO T (Fogod® Eo¥)

(b) & Ao Trar9es W HrOBTrY P Bod Fol)

(c) & ko oo 3B TH0SD ﬁéé—éﬁ“’égoé’s {3P))

(d) & e orar9eo S8 3B TH0S® S0l

(1) (a) $E> 2) (b) s$Fo B) (a) 50050 (d) (4) (a) $20605 (c)

121. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) East India Bank

RE wrg0f ©h R0BIT FrEgH) W

(1) D&% ergof e goddir (2) mo%B0S ergof ©f z0&dsr
(3) HELS wrgof v @0l (4) &Q wodasr wrgo§

122. NITT Ayog stands for

(1) National Institute for Technical Investigation
(2) 'National Income Transfer to Individuals
(3) ‘National Institute for Transforming India

(4) National Intelligence Training Institute

NITI oGrf 839 %008

(1) 3058 asyBergd $6 BEYES adsIJNaS
(2) SEIS as¥Ss (rS)H0 @ 20BJETgHS)Y

(3) LSS asyBergd $6 (@rS3)0300 woddsr
(4) TEIS a00dBSY B9Joh adySargd
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123. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
DEYS (o HE) dw (Bod FBES” BI8 Ho 0HoVIB
(1) edHo 208 (2) D/ F DT
(3) (o FOHEgo (4) (Tom ISgHES

124. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bo& &&¢® BIMARU o°h90 5208
(1) H%56 (2) &g (53% (3) dRyDs Borrd  (4) U°a3<g*’5

125. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna - Science and Technology in Military

g d Do Qovd (fogoH a?ﬁz) QOB v 56 @mg 2016 H0BS DN A508
©doDod? © PHo. DT .

(1) $D& o0 — & 3§ frgod : & BED BAD ¢F w0y >rEAS
(2) &°6°S 86y — 6 ©5 Blod)y

(3) gfo SrPoHS — D Irg T ©d & 58 ©d & w8

(4) @D I, — Q) vo& Bryoz ad Dowd

126. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
D08 IDI, wdo Cg@é Terd8en K o St (800 Ao DeoIeEd
(1) & dS° (2) 06388 3) éS’Sc‘SQﬁS (4) ooy EST- PRI eY
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127. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is

(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and(d)

& (300 T5god® JB/AD EHY?

(a) Booses éodég (D@50 sPodn — 1951-1956

(b) Sorsd ‘éoﬁég (Der®s° sPodn — 1966-1971

(c) o385 éoiﬁég (D@50 sPodn — 1980-1985

(d) &S ‘0’301‘5&6(2 (De5°®5° sPod0 — 2002-2007

5BH HEFEHED

(1) (a) 9605 (c) @) b srED () (@R (@) (a) 2005 (d)

128. Economic and Social planning is in

(1) Union list (2) State list

(3) Concurrent list (4) " Residual powers
©08 0D FITEE (DT wHsTW™ Q RS PoddITH
(1) So8 e (2) ogy wde

(3) &dé& =der (4) 0339 visorw

129. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal
PEETH0S” Y argod HodouEod® BHY (oS’ (AhD Hok) HokoT Trarge
$BoBos
(1) ¢&3HTF Dowrd $0050 HHGg(HTF
(2) edIHTSE, éoég@ﬁ% H0Bw DRyHBomrd
(3) ®oerd, ¢SS HTIT HOB» Bwomrn
() 5Gg(HTF, Doerd HOB» DR YHBomrdS

130. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art. 32 (2) Art. 21 (3) Art. 19 (4) Art. 15
E0%H wEgHOY H028 DHoDD 008" Trergofos®d Q) wRESH dob Tohaedd
QT

(1) ©g¥$ 32 2) ©g&s 21 (3) ©g&S 19 4) ©g¥S 15
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131. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills

in 1919
(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) G.S. Kaparde

1919 K)oaﬁéaéﬁoé& o8& Do ég@ééom Brow TH8B0ED »od iy BHd
29‘"6@0‘53 }622535(‘53 ADB?

(1) 85 o 6»5 by (2) B.D. $o6&

(3) MR. 20585 4) GS. 53

132. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is
almost similar to

(1) Poligar System of Vijayanagaras
(2) Igta System of Delhi Sultanate
(3) Jagir System of Mughals

(4) Izara System of Mughals

Frived Too T, wdgdEomr oo FAD TOT Py HErer T wHSEHN av) TS
WP0A A0 Q Ardind T sod.

(1) Ducdid orero scoomd oMy SIS
(2) 89 ordo stooard ‘asT DB

(3) Bwdene scword ‘wAb :;6526(23’

(4) Bodeno scoo S QeEo JGEPHDON

133. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
BOFSES (A) : odgo (EHad) H0805n wdysTos ¢ JKdos® vy 65 PO
D GoBdo.

s¥oan (R) @ oo p%céS 5)&2 (Do BVnE) IBE 000 HE (HDITrmInod ég@
TH0LF (058 0B,
Ddrprdo

(1) (A) $08050 (R) dzo (A) & (R) 900308 dd8ew

(2) (A) 0050 (R) dzo 520 (A) & (R) 200300 DT s°¢%
(3) (A) dzo 52 (R) Eoy

(4) (A) 5y 57 (R) dzo
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134. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15™

centuries brought deep changes in the political and religious fabric.

Reason (R) : They came to justify Khilji and early Tughlaq invasions of the Deccan

Plateau.

Answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3)
(4)

(A) is true, but (R) is false
(A) is false, but (R) is true

BEFES (A) @ 14 H0bn 15 Foo_dnod® 88 gr8sTY B FRdaHed SELS

e

DA
(1)
(2)
3)
“4)

(POE D055 oSG0 260, &3 @"oé oc80% Ho8 VH oldono st
85 Hrdoyeo %0 DO D00,

S (R) : (‘55&5 03652‘53130 8 ?3)@@0 $00050 &O &8 Sogdir( oo Fso‘ﬁa CSO
FBowE ord FHdHer & (Foordd TS

oo

(A) $2605 (R) Do (R), (A) & H0T0S 6w

(A) $:005 (R) Bodr Do 20 (R), (A) % H0TH ey 5

(A) Q=0 5 (R) Dy

(A) &5y =22 (R) Q=0

135. Name the Delhi Sultan who called himself the *Shadow of God’.
(1) Balban (2) Alauddin Khilji
(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq

I

)
3)

B9 D5 w8 TEPHDY B WS 26?2
SIS (2) worsds 9O

Q,

5062386 DS Soif§ 4) 8> 335

136. Which of the following statements is wrong ?

(1)
)
3)

4

The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

3. (808 méséooe;eﬁ”s B HOTPOH 57K

(1)

2)
3)

(4)

@wds a"mo’oéoéo NDoTt 3 S 23"’65263@5)33260653 Eérdgé)oé ?ocg"oé 0 (D EPosod0 D0
3%305263 '

53@053 I B0TFASTD S EHEHRNI0K T e DEP0d JP0(DETa00 RO WD

6’:965 3@&3 J00 0% ocﬁﬁ@éocéa Q0T8O D 23‘655336%20 Eé?éﬁg&bé aw"oé @vo@moﬁazﬁwz&
Wdwo0DoWI G

08 82@&3 Sod 3w zlﬁo@ﬁga PSSO ) aS”CSEﬁ;éZéaoé’sEO o3l @woé 0[BT oSN
00D oVIE
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137. Identify the wrong pair

(1) Aryabhatta —  Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsamhita

(4) Bhaskara — Panchasiddantika
S5 (808 aAS® DB DO w5

(1) wsgaféo — @65215&3050

(2) ( Sty — Zodsedsgd

(3) ST AT0S% — ) &dow
(4) =08 — X:o%?og’o@s’

138. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural (2) Silappadikaram (3) Naladiyar (4) Manimekalai
&5 (808 a°AS° ) (HoFo SN (o BOST HOKBOW WHod.
(1) 88888 (2) 3¥D &80 (3) HwdFErE (4) L8800

139. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.
(1) Svami, amatya, janapada, durga, kesha, danda and dharma
(2) Svami, janapada, durga, kosha; danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra
@g%"éjo (25°8%0 ‘U"ago’ SIS ©0l¥0o& &rd Gwotwod. & (8od 0S° 2O ISJeYoateta
(1) g, odrds, 808, &4, §%%, o Lodsw 1ep)
(2) Jrgd, =3I, &8, §%%, So&k Do LoddBw g (&
(3) g, wIFEL, wIDS, $of, %, Sod D00 M
(4) g edrds, Sary, $od, §%%, o 20050 Mo

140. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha (b) Kundalavana  (c) Pataliputra (d) Vaishali

& (808 adg &Y F7Y Doy JHIFrTFIwer wOAD (HTIINOL (5 Dopgd® (Foindn.
(a) ocmdyd | (b) Hodeoddo (c) F0dYPE (d) 3%®

(1) (), (b), (c), (d) (2) (b), (), (c), (d)

(3) (), (c), (b), (a) 4 (@), (d), (c), (b)
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141. Match the following

List-I List-11
(a) Kosala (i) Vaishali
(b) Licchavi (i) Kausambi
(c) Vatsa (iii) Viratanagara
(d) Matsya (iv) Sravasti
& 1808 T wBHEHHw

a1 eIl
(a) §*%o (i) 3#d
(b) OBy (i) B°=~0d
() $& (iii) DoerS KB
(d) So&yg (iv) (3% ?g

@ b (© @
(M v @ G (i)
2) @) G G @)
@) O @) () ()
4 @) Gv) (@O (i)

142. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion (3) Tiger (4) Rhino
B0 S8 S cheydS HHHE DY DS QD 2odD %0y VLY BB ?
(1) o (2) DoHdHw

3) HO (4) EDoyHdm

143. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna
(2) Slavery was not mentioned in Rigveda
(3) Sabha the assembly was mentioned in Rigveda
(4) “Rajan occurs many times in Rigveda
&?%Scﬁzéwééa %0 050D &5 (B80d IS Q (HAFESD Sy 5036"’2;26 &od :
(1) "$gL0" 500D &HTgEDHN 6700
(2) "wroSH0’ H00D STgEH WEYPIT S0
(3) D %000 SHTgEDHH W80
(4) ‘el ol DEsNG SHTgEHN Trer Horgdhdwes ©8 08
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144. Match the following

(2)
(b)
(©)
(d)

List-I

Bagor
Langhnaj
Bhimbetka
Sarai Nahar Rai

S8 (808 3P BN Coodw

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

S |

&8
©ohod
HS ey
doron ST6 ordd
@ ® @© @
@H G @) (1)
(1 @v) (@) (i)
(i) (1) (@v) (i)
(iv) (i) () (1)

List-11
(i) Rajasthan
(i) Gujarat
(iii)) Madhya Pradesh
(iv) Uttar Pradesh

eIl
(i) o=J
(i1) ﬁoas&’@
(iii) $o¢g (0T5
(iv) &8 (933

145.

‘Jorwe’ culture belongs to

(1)
©)

‘25'333’ D007 )8 & 0N Todbdd

(1)
3)

Chalcolithic phase
Mesolithic phase

oo (HoBer dSwifo
éoc;ﬁg oce adoifo

(2) Megalithic phase
(4) Ironage

(2) Yy &3wr dSwio
(4) x%0065%5> asnio

146. Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene

(2) Waste management

(Bod ES* b 3By P88 WES ©Fgo 52

)

@55(?5 SE e

2) $g8 Vdgare

(3) Sanitation (4) Beautification

(3) rodHgo  (4) 0888808 E0
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147. Read the following statements

(a) Infant mortality means the death of a child less than one year of age.

(b) Infant mortality is the number of deaths of children under one year of age per 1000 live

births.

(c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(2) (b)and (c)

(1) (a)and(c)
(B0& (DB B30 S&HHD0

)

(a) and (b) (4) (a),(b)and ()

(a) 3% Hoderen wdm HosE 8o YrosHors 3HK) HodBatdo
(b) 1000 2570s® Sos81808° Y SITond Do Sopg egrdom BH Hrdaro Dopgdo

Qg oI 8>
(c) oo
D (DB SI8d00" A8/2D Jeo?
(1) (a) $:605 (¢)
(3) (a) $:605 (b)

H&dEo a,s’zy'éﬁ 3% Hodrod sEmo

2
“4)

(b) S556 030 (¢)
(a), (b) H00050 (c)

148. Match the following
List-1
(a) Golden Fibre Revolution
(b) Gray Revolution
(c¢) Pink Revolution
(d) Black Revolution

22 S DHBWoH0

o1
(a) omd DF Hdo
(b) &S Toi VDo
(c) @hord Jod VDo
(d) "Se0dH 28Do

@@ ® (© (@
(H @ @) G o (Gv)
2 vy @ (@) (i)
(3) (@) (@v) () ()
4 @Gv) (@) @) @)

(M)

(ii)
(iii)
(iv)

(1)

(i)
(iii)
(iv)

List-11

Fertilizer

Onion

Petroleum products

Jute production

et Az | |

BV IeRRION

& aradoo
%D@S”S@O‘éoo fi—ségé_oo@o
9% &ég@
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149. Match the following

List-I List-IT

(a) Zamindari system (i) William Bentinck
(b) Drain of wealth (i) Thomas Munro
(c) Mahalwari system (iii) Lord Cornwallis
(d) Rythwari system (iv) Dadabhai Naoroji
BEDHBHBoX0

R | At U |
(a) 2oomd JEedHw (1) DOcHK> BolE
(b) (dorwrom o FHEo (i) %0 Ho&
(c) HobrSad DES (iil) or§ 526 3OS
(d) Bego dvg8 (iv) ororgron 3°6°=

@ b (© @
() @i  Gv) @O (D)
2 @ @) @G @Gv)
G) (Gv) () () (@)
(4) @) Gv) G @

150. Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals
(b) Better public transport facility
(¢c) Face identification system to catch criminals
Which of the above statements is/are correct ?
(1) (a)only (2) (a), (b)and (c)
(3) (a)and(b) only (4) (b)and (c) only
(ol (DOVSd0en HOROOTWID®

100 wos s e’ (B Sweg ofereo

(a) %gofoo FOE (rHE Joko(ge £OA Godbo

(b) &gl (Herdaren JForgwooddo

(c) S0l H00d “Hop K00D HgHHBo EOA sodbo

D (HIBID00S" QB/2D Jeo?

(1) (a) s ) (a), (b) $o805» (c)

(3) (a) %0050 (b) H(& o (4) (b) 50005 (c) Hr(EFo
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(a) The first hour of every parliament day is reserved for questions

151. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(c) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(8o (HHWSLoen Wekdwo

(a) (28 & >ID0od JodS How 1Hoho (95 BB E7ELH Teronod dod
(b) JgD0wd Fo(dTrdires® rEdTY Jogn wande frdg Hoo (6% @)
(€) 5°8gRBgHrE FPgo D IPgady VS0 (Ee VP J°gAi0 N0k HVNIE

DTS DS H0

(1) (a) Qzo 52 (b) S08a» (¢) @ Dy

(2) (a), (b) HS08030 (c) @0 @bl dez0

(3) (a), (b) L0005 (c) @ e—mf)l SRS

(4) (a) H20052 (c) @ Dy H035» (b) dzo

152. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements-of State High Courts
(b) Review the functioning of the Council of Ministers
(¢) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and (c) (3) (d)only (4) (c)and (d)
P8 (D0 §°G ‘Trgo Vg @o5 o) KON $0b. TYOH DdE wdm

(a) oa9 zmé’sé@ @(‘Sot)@éo bg 0¥ o

(b) 200(8%080 Vool DN owEo

(€) 88 0°Q9HBE Dodd adgdo

(d) =03 9 ¥IrHoVS Igro, 5°8gR0°gwr E F°g ST orerg o %Sééo VgonoBob
ISHSESIRSESRLI ALSSRRY

(1) (a) S08030 (b) (2) (b) $28050 (c) (3) (d) Lo (SFo (4) (c) 08052 (d)
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153.

Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case : Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod &S® HTD wd 6?2

(@) 2.8.08. = SHr6 I G50 D 0dgddd Xa@?g@ DHODD B0 S® ;Y e w0
(b) Dy Fregdn . So(& o°g9 Do ogren

(c) mobo DI Tregdw DB (TH0S” HoWFO T8 o

(d) o6 Doh @regdn : @om@&‘?@ [SACEPRSY

Correct answer is
$BS Ddrgrddn
1) (@ (2) () (3) © 4) (d)

154.

Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and(b) (2) (b)and(c) (3) (a)and(c) (4) (a),(b)and (c)
(Bod (HPHBBB0en HORDoWL®

(a) RS & s RErgd Horeo $8N N drgS Bifo EoH S 1992 boéé&démef’
DO""D@O Dok &od

(b) 658 orergod DITw @rgor B & 0% RNErgS Horo H0BN wdrgd Sdo
NS dovyee B &od

(€) 805 drgd Horo HOMH WErgd BHo ENAUS Bodd BYS . S,

éﬂéoéooéég
23 8D @Dézﬁééwmef NI DTIO
(1) (a) $0805» (b) (2) (b) H080%20 (¢)
(3) (a) 00050 (¢) (4) (a), (b) S2803%: (c)
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155. Consider the following statements

Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

(a) The High Court of the State certifies that the situation in the State is very serious.

(b) The Governor of the State certifies that law and order situation is not under control.

(¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent

investigation.
Which of the above statements is/are correct ?
(1) (a)only (2) (b)and (c) (3) (c)only (4) (ayand(d)

[Bod (HSBSsmen HBEOoSoR®

‘©08S 356" (H5°80 28 07h90S° wdghdd H0PB 28 HoHEYTH0 oD FIFrhorw0dE

(a) & "R 90" SDHHd HOP LTI © TR el Qgr00 WD BSo

(b) U%c.}joé”s T08 (S0 9SNNS TI 0586 g0 0N T

(c) o G"Xﬁ}joé"; e—ﬁoo@ AV Eo0 AFgTroWdo R B DI ¥o Hopoo ?Dg"@oﬁ?é@téo

(d) dggo& AR org0° Be008", U"ngoé{’ @Léé@?ge‘éo@o §PIJ BT 0500 TP 9IDS
bodyh BoSHBB |

K (BB BIB00S° DO/ Jz0?
(1) (a) (8o (2) (b) 2006050 (c)
(3) (c) & @) (a) $:005» (d)

156. Read the following _ ) ) ) _ _
Afrﬁember of'a House belonging toany political party shall be disqualified from being a Member
of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.
Which of the above statements is/are correct ?

(1) (a)and (b) (2) (b)and (c)

(3) (a), (b) and (c) (4) (a)only

(Bod (HHWSHooen H$osHdw

.8 orado%d @1’@ § Tohd 3705 Dghgd (Sob Koé?@oéeoé% ES T3 JFgE I8 ©ddadko
@) T°ehd.

(@) &3 F§ Ho06 R HTID PR

(b) &3 8 :“o(gﬁz‘)ocsom S5O DYID o

() 85 rd 2bId IBH é§@6§om TH5 DYS® hdn DRIDpd Too [o=d

®O0NID P&
D (HITI300S® DO/ Jeo?
(1) (a) $0005% (b) (2) (b) H080%20 (¢)
(3) (a), (b) $080%» (c) 4) (a) drEDo
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157. Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BOFES (A) @ TH0oS® &8S® Ho @ 0709 VO GHOFT H7T) e Yo Y FoEH
e do.

s¥edn (R) @ oog9 S0 God STy Duod THoo orag SFS'S (T4 DHIBD.

DIFrgd0
(1) (A) %8052 (R) @ Bod Jdeo H005» (A) 8 (R) H0 0308 I8 Je

(2) (A) 00050 (R) @ Bodor Jezzo 570 (A) 8 (R) H00305 Qa8 s°¢h
(3) (A) Q=0 (R) oy
4) (A) &5y (R) Qo

158. Read the following
(a) The provision of All India Services are explicitly stated in the Constitution of India.
(b) The provision of National Development Council is not stated in the Constitution of India.
(¢c) Stamp Duty is levied by the Union, but collected and appropriated by the States.
The correct answer is
(1) (a) and (c) are correct but (b) is wrong
(2) (a), (b)and (c) are correct
(3) (a)and (c) are wrong but (b) is correct
(4) (a)and (b) are correct but (c) is wrong

808 [HSTrosy bk

(2) ©o 8y Do I ofdes EE crargodods® Dyhom WEYLINE:

(b) w@oﬁwé}ég@ H0BD (DX grdE orergoros® T

(c) FoR) g8 To(o DGD08, Togrg B HVTLr BH0E VI TWrAowWE HE0)
DTS e 9

(1) (a).20052 (¢) dzo 57 (b) SHy

(2) (@), (b) L00605xn (c) @ Jdexo

(3)(a) H065x0 (¢) @ By 522 (b) 2By

(4) (a) $00050 (b) @ by 570 (¢) Dy

159. Conventional energy source is

(a) Solar energy (b) Wind power (c) Bio-gas (d) Nuclear power
JPO(DTPAR 0G0 DIBY o

(a) dordg ¥E (b) 255 %8 () Br-mrgd (d) weso %8

() (a) (2) (b) (3) (o) 4
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160. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?

(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman
P88 TR 9HvSHOS" 5038 sdgired” Ho oo Fomd

(1) 2.9. a0 (2) 3. DoEd TG
(3) DG TS (4) 6. oS

161. The following states share border with Uttar Pradesh
(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is
(1) (), (b), (c) and (d) (2)" (b),(c) and (d)
(3) (a)and(d) (4)" (a) and (c)

Bob TAS® &88 (HTBTE H0Te o ovrom 9D 2

(a) boerd (b) o (c) w8596 (d) wgob
ISSESERSESSLlapbaYel

(1) (a), (b), (c) %5805 (d) ) (b), (¢) $o605» (d)

(3) (a) L0802 (d) (4) (a) $200%» ()

162. The state having largest area of forest cover in India is
(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PESTH0S® wdns IRgo widHeo Ko o°R90

(1) $gg (935 (2) »3yo
(3) @S SS (HTF 4) ogd
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163. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (ii) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (ii1) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
238D B0 b0
eI ko B |
(O°F9e0) (P8 gowa)
(a) STk () Hostordg, Eoryws, dd), ©o(§ (535
(b) (8D (i) 8IS, Sy (535, 2235007 ®o& 3153&5, arorgd Hodadn U°a3§15
(c) Hoerd (ili) omrdF, &’do

(d) Bworre (iv) B8¢ $0050 Eoo 0¥
The correct answer is
DTS Ddrarddw
(a) (b) () (d)
(H av)y @) (i) (1)
2 @ (i) @) (iv)
(3) (v) (i) (1) (i1)
(CORNC) (i)  (v) o (D)

164. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests.are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod [(DSWIl0en Wdowdn
(a) &0 H080 wEHe WodIrs HH0BN IS EHod® EA T ow
(b) SrsrodH wdHeo 30708 §Todes H005w Ser oKRrd DEPrY (oot EDIrow
(c) 38 r8ETHo Hr0WBH WHTredd ([Frosrod® DELE (FPod ©EHooI° 0w
(d) e 8D wdHoo Sy ~EETIoS® aoyon
Which of the above is wrong answer ?
= Lﬁaézﬁééwmé’s 8 ED
(1 (a) (2) (b) (3) (o) 4 (d
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165. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

BOXSS (A) : 1921 marye BE o DESH D008 rISTIoS® w0 %@30@326 2RI
$)8 SBrBHO.
8w (R) @ 1921 dod& 8o e S TFoS® Lodero B (oo ghod.

ISHSESIIRSPISAIALPVR SR

(1) (A) £086050 (R) @0 Tods Do H28050 (A) 8 (R) D003 dd8en
(2) (A) 200050 (R) @0 Bodr dz0 570 (A) § (R) D000 AHSe 57
(3) (A) Q=0 (R) 8y

(4) (A) 85y (R) d=o0

166. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

S8 0HDIT0 TEH O oPR)/([Fos) EHEeon?

(1) 26 &30 (2) 8808 S &30
(3) XSS (HTF 4) D56

167. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false
(4) (A) is false, but (R) is true
PEPES (A) 1 8 é$é§©‘goe§% DEHE DY (DIWr0T o By 3D.
s¥edn (R) @ & 8o durod 20k 9T oo BrLTEY.
DTS VIrgrddn
(1) (A) $8052 (R) Toddo Do o850 (A) 8 (R) 0800 A58

(2) (A) 0050 (R) Tod dezo 522 (A) 8 (R) 90005 Qd8er 52
(3) (A) Q=0 = (R) 8Dy
4) (A) &5y 579 (R) dezo
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168. Match the following

List-I List-11
(a) Banihal pass (1) Jammu & Kashmir
(b) Rohtang pass (i1)) Himachal Pradesh
(c) Niti pass (ii1) Uttarakhand
(d) Nathu La pass (iv) Sikkim
Ss (808 TP wBDNGosw
-1 a1l
(a) &S IO (1) =0y & 9%&5
(b) &8* B0k o (i) wrdrsS (HTF
() D& 5 (iii)) sSorpob
(d) 3w 0 (iv) 280

Correct answer is
$TS ddrerdo

@@ b (© (@
(D) @Gv) (@) @) @)
2 o G () ()
(3) Gv) () @@ (D)
@ (@O a) (@v) (D)

169. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.

Reason (R) : The ports provide access to the raw materials available in the hinterlands of
these ports as well as to the world markets.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A)and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

BOFES (A) ' r8STF0S A 5Ty, dwoBow HOUW 33 & THodH e &),
PHE [@rozros® @G@ﬂ&é @’owoo o ©Dd)H Voo

8odn (R) @ € 48 THoo S PRE (Frozrod® 0hoB Hnd HEHod Fodwds
$008» (HHoW $rT)Los T8 wdopHm sI)ow.
(1) (A) $08050 (R) @ Tods do H20050 (A) 8 (R) D000 dd5Te

(2) (A) 200050 (R) @ Bodor Jzzo 570 (A) 8 (R) D000 Qe s°¢h
(3) (A) Q=0 5 (R) 8Dy
(4) (A) 85y 57 (R) dzo
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170. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1)) Odisha
(c) Lead-zinc (iii) Rajasthan
(d) Asbestos (iv) Telangana
RS REROPISY
eI eIl
(a) Srordbo () Sogg Bkl
(b) J3S (i) 2@y
() 2vHw-20§ (i) o=
(d) o) (iv) Booms

@ b  © @
@ Gy ) ()
@ v Gi) G ()
G O G Gi) ()
@ (v G G )

171. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (¢) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b), (c)and (d)
(3) (b)and () (4) (a)only
(Bod a°0S° DO HrHd (PEWE 0¥ sedgioraro $51188 TokhErs ?
(a) e (b) s’sﬁmsé’\)éiaéo (c) Koo (BD5g%0 (d) SgdJraso0
ISECESERSESSLlapaTel
(1) (c) $06050 (d) (2) (b), (c) $08050 (d)
(3) (b) L06050 (c) 4) (a) drEDo
172. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer-is
(1) (a)and(c) (2) (a),(b)and (c)
(3)~.(a) and (b) (4) (a), (b), (c) and (d)

(Bod aJS° T ol (o HE Lod odohibn?

(a) BEor8 wHo do VEST 0 wdHed

(b) Bher)8 sHes o 0Ty wdHo

(c) HE8508 $yomsdD wdHos

(d) 270 3ol v5°8Y vHHo o wHT) wdHoo

DTS ewae

(1) (a) $:605 (c) ) (a), (b) $:505 (¢)

(3) (a) $:605% (b) 4) (a), (b), (c) B0 (d)
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173. Consider the following crops

(a) Cotton (b) Groundnut (c) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and (b) (2) (b)and (c)
(3) (a),(b)and (c) (4) (b), (c)and (d)
(Bod Hoveody HOIOoWIBN
(a) &3 (b) F¥54 (c) @ddago (d) A*Sadoed
D 58S 2D p8H Hoveo
(1) (a) $080%» (b) (2) (b) 08050 ()
(3) (a), (b) L2050 (c) (4) (b), (c) B850 (d)
174. Which one of the following shipyards makes warships for Indian Navy.?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
88 I s5eleeI8 SSEMORIS oﬁaod@ﬁ JEod S0 T J°s7(F0%0
(1) Jmpdoen Ise(¥ako (2) DHS Js(¥00
(3) Sommrs Ise(f0s0 (4) FSED Ise(f0so0

175. Who among the following tribes live in the Union Tetritory of Andaman and Nicobar Islands ?

(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bod BRHD D Bifen Bo& OE (FOSHd ®oBIrS-I8° Sod? VISP EN LYo ls
(1) oda° (2) H0o0dk 3) oS (4) w=oeoe

176. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&g oH0S® Boomn (Fozed8 dwd) Erdod® E830¥ ¢ SEmen 1980 &0 & Lrdo
DHO BEH @HeS® Gowron. 570 dorerd HOn B8o@erd ok JSIneS® Hr (e
©@d 1977 &0 § HrHo DB HEH HrE wod® sowron 9 SOD Do

(1) =& drere D680 (2) on Jorg DP¥o
(3) ©Po BE adyodo (4) DoWdrE DEEo
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177. Which one of the statements is not correct ?

(1)
)

3)
4)

Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under
the six point formula and Presidential order.

Kamalanathan and Umapathi Rao were the members in the officers committee.

Abdul Khadar, a senior [.A.S. officer was appointed in 1985 to scruitinize the officers
committee report.

& (300 FEgENOS® B HOTHIG 57

(1)
)

)
4)

085 371 '@ (d5°8d0 wo($ (HTIS® £ HgHY AT &0 WONOO

e drere DEEo Hodasw U"‘%?‘é@ &g S8 GYODIIJ D BB ©0(&
(BTF (Deodgdn wakyrds 3& E08D 19846° JasodooDod

E50ES Ho0dBn GIrvBorHor WLy ENG S Sogen

@%3705(3 E0¢ ©0b0DS ITHES HO3DoBwE 19858° ® 39 rib oo 2000556
0.0.90 @50 Jdddoy T

178. Match the following

(2)

(b)
(©)
(d)

(a)

(b)
(c)
(d)

List-1 List-11
My Telugu Roots : Telangana (1) Nalamotu Chakravarthy
State demand — A Bhasmasura wish
Battleground of Telangana (i1)) Gautham Pingali
The fall and rise of Telangana (ii1) Venugopal
Telangana—United Andhra Illusions (iv) Kingshuk Nag

& (800 G 2BDHSHWk

Ak | D11
3 B Gy 1 Boomrn Q& (i) SoBords WES0
GBr0&-Dgf Iy da@
g (06 ©d Boome (i) Ao Dod®
& S vobk TO «p Swormrs (iii) Seod*FrS
BOOomH-GBNIBE ©o(§ BLOGE) (iv) 8o0A%0E oA

(1)
2)
3)
4)

@ b @© (@
(v) (i) () (i)
@ G) (i) (Qv)
i) (Gv) () (i)
(v) () Gi) ()
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179. Arrange the following statements in a chronological order
(a) Declaration of K.Chandrashekar Rao Fast unto death.
(b) Telangana March to Necklace Road.
(c) Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).
(d) Suspension of Telugu Desham Party from Joint Action Committee.
& (8o 8 (Bdorlomemon® edndyod
(a) 3. SoB3Teb oo wolm JSTFSEE (HELD
(b) 3IES 6°& 8 Boorrs 78

(c) (& §&o&oro wronod wisS sd (JAC) 52’35268m Q0330528 K0
(d) 2row0d 88 NG HHod Booh Bo r§ Wra e

(1) (@), (d), (b), (c) 2) @, (), (b), (d)
) (), (a),(d), (¢ (4) () (0), (d), (b)

180. Match the following

List-I List-1I
(a) Goreti Venkanna (1) Ayyoniva Nuvu Avvoniva
(b) Nandini Sidha Reddy (i) Amma Telanganama.....
(¢) Guda Anjaiah (iii) Palle Kanneeru Pedu Thondhi
(d) Gummadi Vittal Rao (iv) “Nageti Sallalo Na Telangana.....”

Ss (808 TP BN

a1 D11
(a) A°TE Togdy () oTrgds SoHg oSS
(b) J0bQ Dg° TE (i) odry Svomaddory..
(c) #rd wowmalg (iii) B £ 8 &8 ob
(d) ®osns 28 ooH (iv) ">0E ISt > Boomres...

@ ® © @
(@  Gv) @) ()
2) @G Gv) @O (D)
G) Gv) @ (D) (i)
4) () (@) @O ()
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181. Match the following

(a)
(b)
(©)
(d)

List-I
Dimsa
Adrak ke Punje
Perini Dance
Pittala Dora

83 (800 TP edHSoruhradw

(2)
(b)
(c)
(d)

(1)
2)
)
4)

Rt AEC |
QR0
o35 B Ho&
08 @)
%aééa@ &8
@ b @© @
) @) @) (@v)
1 @Gy () (1)
i) (1) () (@1v)
(iv) (i) @[ ()

List-11
(i) Babban Khan
(i1)) Gonds
(ii1) Fastest dance form

(iv) Budiga Jangalu

eIl

(1) AR

(i) A*oddoen

(iii) SHH 0SB S gHn
(iv)  o& eomren

182.

Match the following

(a)
(b)
(c)
(d)

List-1
Ramlingeshwara Temple
Erakeshwara Temple
Sita Ramaswamy Temple

Venugopalaswamy Temple

Ss (800 drEQ BSEDBHTL0

(a)
(b)
(c)
(d)

(1)
2)
3)
4)

Rt ALl |

085007438 wodko
Qdér‘ésd QOO0
%o@d"c‘éo@“sé)o GO 000
B FoIIN @050

@ & © @
(v) (i) () (i)
i) () G) ()
(v) (i) @) (i)
@ Gi) () (v)

List-11
(1) Dichipalli
(i1)) Kondaparthi
(ii1) Pillalamarri
(iv) Nandikandi

eIl
(i) &0
(ii) §°0&®o
(iil) DyoHd
(iv) So0d%0d

IS 2016 B
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183. Match the following

(2)
(b)
(©)
(d)

List-1
Mannemkonda Jatara
Durajpally Jatara
Siddulagutta Jatara
Singaraya Jatara

Ss (800 a8 wBHBWLD

(a)
(b)
(c)
(d)

(1
2)
3)
(4)

AR |

D3 080 erEd
$oEDY rEY
?oc(‘éo@fﬂo%; adaYel

VoK orO% rE Y

@ b @© @
i) @) @) (1)
(i) (Gv) (@) @)
(iv) @) (@) @)
@ @) (@v) (i)

List-I1
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(iii)) Anjaneya Swamy
(iv) Lingamanthula Swamy

a1l
(1) @é@ HED0T g
(i) 2T 3gEIgan
(ii1) &902330503"53)0
(iv) ©oifdoodorodrga

184. Match the following

(a)
(b)
(©)
(d)

List-I
9t month of Islamic calendar
Moharram

10th day of 12th month of Islamic calendar

Milad-un-Nabi

& (800 7B wSHEHEW

(2)
(b)
(c)

(d)

(1)
)
)
(4)

R |

a8 573 Bodb &ydd Jo
Bode(Fo

aPNE 5°gT0ES DI)odd
SO HEH e

NrE &S I

(@ b ( (@

) (1) (@{v) (i)

(i)  (v) (@) ()

@ @Gv) @G (i)

(iv) (i) (@) (i)

List-11
(1) Prophet Mohmmad’s birthday
(i) Bakrid
(iii)) Ramjan
(iv) Shiyas

o1l
() B8 (D88 233850
(i) (88

(iii) SoeS

(iv) 2osreo
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185. Which of the following is not correctly matched ?
(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik
(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao
(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu
S (808 IS DO DOTD @d 5%
(1) vowrd o Ford VNS — Vyddg J°088
(2) 6 &2 THro Ford DNE — JoEFP JedHIrE 776
(3) $BE THyo Ford D& — & i S0yodorD
(4) o8O Ho Ford DN® — Provd oo

186. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning
(3) Digambar Rao Bindu — Home
(4) Shanker Dev — Education and Village Development
1952 &° Dég&é 8o TrE)Rrory) o8 HIHNIH Do 0fow B0 57 wE A6?
(1) Dord Saed 20h — Léwgsﬁgéw, (Dereddoe0
(2) Qo. V") TG — HgHIrafH» D20 TBw (D E
(3) &do ok Dok — @odIonE HgdHPoren
(4) %085 TS — Dy Ho0s» (TAoe SARNA

187. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted
that “Culturally Vishalandra was already a reality”.
(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao
1955 28 Hrd5ns® 20AS Beoth grar S8 HIrTTI8 WS KW TIod) YKo
DForo($ a8 RET ad ST HrSed.” d dggrgdodod.

(1) §ow Bo&d Sonm TS (2) TrHo o FromD
(3) Srdare Trdodoosor) (4) Hododwe SdyoKorR)

188. To-oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?
(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji
(3) S. Nagappa (4) K. Rajamallu
1963 &° 8BS HoLHTE (Heh&ghndo HBTILT “wo( (Hehdgdo, Tho (Hehdgdm,
B%@ §°8% 00w B%@?ﬁ” P9) 5"5991530{’30&
(1) &.93. focsl’@ég (2) Soa of & e
(3) 2. FADY (4) 3. ocedow
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189. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to
(1) Backwardness (2) Development
(3) Disintegration (4) Internal colonisation

o9 PI6 Ded EDHE D00l Trer Hod Trohen Tew OO WP(radodn (D5°EHW
“od)0Tosd woFerod [@rodo8 TwE § (oI JEoewrd PR 9wndy ODHS
©d wodomr HI8 d HWBNI dod.”

(1) Blo¥erdn 3550 (2) @958
(3) Dy 08 (4) ©od8E HodH

190. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of
population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

&3 800 (HISIwoS® & $TIO 577

(1) DG Hodooe 2dyoddn (HSE5» FAhgdhhe® =N T JBrHsod) e
(EDHOET wdoiozrom.

(2) 2.4. Jo. 610 VSO T0H 00908 s oge Hroe® 8ol Earddo
Q008 Soomrn (e 2EHEIS) WIPgasHNOP Jard o3 Q& 5.

(3) & B0 2BHHolHN (H5CEHN 07Q 9 952‘38@?@5‘3 gl (FroTrodH wo(F-800mrn
(Frozre @08 o008 DEHes 50 : 50 L Y8S® sord.

(4) 1953 &° o5 (Deoggdn 2D Had ®d Ségésoé’s R 9dne YIS& dFed
ENH Do 350000,

191. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
e DB Benih (HB DB A@GET s0&d?

(1) Sroow §89E6 oo (2) o488 Sommdogen
(3) THODO crdrdoeoD) (4) ©3d wrdoce
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192. Match the following

List-1 List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1) Munir Jamal
(¢) Tenugu Vani (iii) P.Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
S8 (808 &P 2BDNCoodw

AR | eIl
(a) ©&& (i) HrN& SdHrscodord)
(b) B Bworre (il) H$0d6 zwdrS
(c) 8dofs &°e3 (i) ®. ==rgS B
(d) Seods o (iv) O3, dEgarodson

@ (b (© @
() @Gy @Gv) @) @)
2 @) @) (v) (i)
(3) @Gy (@) (Gv) @)
(4 @) @) @@ (@[v)

193. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into
(1) Generation, Transmission and Construction
(2) Generation, Transmission and Distribution
(3) Hydel Power, Solar Power and Thermal Power
(4) Distribution, Construction and Transmission

STl (oocozrcfeaéaaé’s rfomr 0005%» (HH0S zwgoéa QU0 whoomr w8 wo(d
L@z‘:‘% orR9 (DehEgo 0709 S)dagisgé B Larrchy DoDeT DPLoWOd.

(1) &Ey8, DEHo> H2052 bw&eao

(2) &EN8, DIHor HoOO5H Do De3

() =o ISgE, TurS IBIgS H20ASN IS VeSagdy
(4) DoRed, Vom0 BB DIHor

194. Which one of the following statements is not correct regarding 1969 Telangana movement ?

(1) Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
(2) Telangana people will not accept less than Regional Autonomy : C.C. Desai

(3) Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

(4) Prime Minister should take political solution to the Telangana movement : K.L. Gupta
1969 Soormren dgnindsd Do 0hHoD & Bod @326%262639@@5’5 A& DOOHIE 57

(1) SBeooores Loa&@o e (DOSnE 07 9d0e rHSB (DB)owI S ¢ AB. arearow.

(2) Sworre (Deeo @T’o@oﬁa 080320 VTraRE (HBDY o ééazro“a (HBFEIZ @ohEdoW:
C.C. Barow.

(3) FEDotd® BoomnD (HEdH0(8 O (HEOIL B B0 Bvomrn (HerHdR S
T 05 %0 %9 cooLoJ&ow’@) K. 8% 88.

(4) (DErdo0(® Boomem GdgddNIEH o8 s DOy FHdo §263§52rée>0503260 :

K.L. e
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195. Match the following

List-1 List-1I
(a) Porakala Dora (1) Shanigaram Venkateshwarlu
(b) Whiteman (i) Dasari Laxmikantham
(¢) Sahu (iii) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
&5 (800 TP wEHBWoww
eI a1l
(a) >Igo &Y (1) #dd8o Soé'ér‘ésgo
(b) &g (i) ©%d @é@?oéo
(c) oo (iif) H0Ir)¥ oF 65 o)
(d) o6& (iv) 28 0TI 0. BITH

@ b © @
(H ) Gv) (@O (i)
2 ) @ (Qv) (i)
G) O @) @i Gv)
“4) @v) G) (@ (i)

196. Match the following

List-I List-II

(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i)  Electricity
(¢) Koneru Ramakrishna.Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
83 (800 TP @HHIYTIDW

R TeRt | eI
(a) 3B By s (1) dS)oew @&‘gm@ LIPS gdooa, Powsdo
(b) ﬁoﬁso‘?ﬁqy"go‘éo g3 (i1) IDCSJSIZSQ_%D
(c). §3 orHEyaror)) Eoel (i) (DhEg od LoYed
(d) Qo Hoego el (iv) &) & deg

@ G © (@
M @ @) (@) (D)
2) @) @) G @)
(G) @) @ (v) (i)
(4) (@) (Gv) @) ()
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197. Match the following

(a)
(b)
(©)

List-1

Jai Bolo Telangana

Shadow lines

Still seeking justice

List-I1
(1) Shanker
(i) Prem Kumar Aman
(ii1) K. Chandrasheker Rao

(d) Nyayam Kosam Telangana Nirikshana (iv) Osmania University Forum for Telangana
&s (808 TP wBDNGwosw
Rt Al | era-11
(a) B &°¢° Boorn (i) %086
(b) & B3) (i) (Do HIr8 ©HoI
(c) RS 28oh =B (iil) 3. So$TDE o=
(d) srgosoo §%%0-Bwomrn V6w (iv) &y desr 05038 P60 HE Boormren
(@ G ( (@
I @ @) Gv) (D)
2 @® @) () ()
3) @ aGv) aG) (i)
@ @) @ (aGv) (i)
198. Match the following
List-I List-11
(a) V. Prakash (i) Telangana Janasabha

(b) Bhoopathi Krishnamurthy
(c) Muralidhar Deshpande

(d)

Akula Bhumaiah

& (800 B wDHnHI®

(a)
(b)
(c)
(d)

(1)
2)
)
4)

QeI
Q. (5@
FrHe §Q§% SSEVLLs)

0895 BF5rod

@HO FrH005 IS
(@ (b (0
(iv) @) (@)
(i) (@v) (i)
(i)  (iv) (i)
(iv) (i) (1)

(d)
(iii)
(M)
(M)
(M)

(i) Telangana Mukti Morcha
(iii) Telangana Mahasabha
(iv) Telangana Prajasamithi

eIl
(1) Seomrsm @l v
(i) Bowomren H0§ Jrd)
(iil)) Sowomre JoHsdY

(Iv) Sovomre (Da DB
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199. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1) Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge
(2) Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad
(3) Digvijaya Singh, Veerappa Moily and Ahmed Patel
(4) Digvijaya Singh, Ahmed Patel and P. Chidambaram

©o(§ (PTF o°R9 IFPed Tgor G D BTy DHVgeD) DOAHEE BED 58
HOFY FH0dEH S drIder ady ML grdE (Dehdgo AK. 90§D wgggsd
.8 B J0oVod. o EWSSD dgogeo

(1) 8hgeds 2of, edr)d BVS B850 HHdeddd o3
(2) &hgedd oh, 3)&%)9333003@ $08030 Hoeroddrwerd
(3) &hgedd voh, @6&35&30&3@ 500050 @wry 8 HES
(4) 6Agad 2of, oir)8 HBS oo Vo Lo

200. Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(¢) Gadwal (iii) Bangles
(d) Hyderabad (iv) Handloom Sarees
S (8080 TEI 2BDIrodw

A | eIl

(a) LD (1) adgd Fdrdo
(b) o ) (i) &
(c) dargen (iil) oreen
(d) Z=&ocewrs (iv) 38 DS

(a) (b) (c) (d)
() (i) » (v (i)
(2 @Gv) () @ (i)
G @ @) G (v)
(4 G - Gv) (D) @
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